Lesson 1-5
Solve Eguations

Solve & D1scuss It|

.possmle models that she can
build? How many bl

would Janine use fo

~each model? Expla

solve equations involving squares
or cubes.

‘e
L

8.EEA2

Mathematical Practices

Common Core Content Standard:\;‘
MP2, MP3, MP6, MP7, MP8 )E

§

H

kS

Focus on math practices

Reasonlng Janine wants to build a model using 3 Linch cubes. How
many 5 1 inch cubes would she use to build a solid, cube shaped model
with s:de lengths of 4 inches? Show your work. @Mr2




| . Scan for
@ golve Equations Involving Perfect Squares Multimedia |
= Draw a diagram

is to
{0 p He wan :
Darius is restoring ?ﬂw'f bl:”ece of decorative to represent
- finish the outside edges wit olding will ~  the tabletop.
molding. What total length © .
Darius need?
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V -1 Use the formula A =s2 to find each side length.
' “To solve, take the square root of both sides of

the equation.
A=s2
Because 52=5 X 5=25

: \/2-5=\/s_2 © and (-5)2=~5 X —5=25,

su—5ands—-~5 ors= =15,

+Bh=g iw

Since length is posmve each side length of the tabletop
is 5 feet. Darius needs 20 feet of decorative molding.
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E Generahze In general an equatlon of - %

Lthe form x2=p, where pis a posntwe ratlonai

number, has two solutions, x =% p @Mps

' 5 uare below"
_What is the s;de Iength- _s, _ f Fhe q

L e

o ' R meters.
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Each side of the squareé mea sur L,,.J
ere tWo possible solutlons to the equation
jutions is valid in this situation.
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Solve Equations nvolving
Perfect Cubes

t Kyle has a large, cube-shaped terrarium for his iguana. ™
. He wants to cover the opening with a square screen.
. What are the dimensions, s, for the screen?

V=s3
343 = 53 . The value of s is not
- - /343 because R
V383=V53 o C7P=-Tx-Tx -7
7=5 = —343. ' 2

Each edge of the terrarium is 7 feet, so
the dimensions of the screen are 7 feet
by 7 feet.
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" Solve x7 = 64. & XB }LL}

K=H

o Solve Equations Involving Imperfect Squares and Cube

Solve for x. e e
A. x%2=50 - Because 50 is not a B. x3=37
I T perfect square, write the 373 35S o
x==V30 ; solution using the square x> =37 Cox Y37 is an exact
x= +V/50 .., rootsymbol. x=%Y37 .., solution of the equation. '
There are two possibie solutions, x = +V50 There is one possible sclution, x = V/37.

and x=—-V50. -
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